dihydrogéne + dioxygéne = eau
Hz + O; = H20
diazote + dihydrogéne = ammoniac
Nz + Hx = NHs;
carbone + dioxygéne = dioxyde de carbone

C + 0O:; = CO:

carbone + dioxygéne = monoxyde de carbone

C + O, = co
H + Cl2
Fe + (617
SnO + 02
Mg + CO; =
Al + H.O =
C2HeO + O =
CeHeO + 0. =
Zn + SO; =
Fe20; + CO =
N2H4 + H202 =

----Savoir ENFIN équilibrer une équation chimique

méthane + dioxygéne = dioxyde de carbone + eau
CHs + 0 = CO; + H20
éthane + dioxygéne = dioxyde de carbone + eau
Cz:He + 0; = CO; + H20
propane + dioxygéne = dioxyde de carbone + eau
CsHs + 0: = CO: + H20
butane + dioxygéne = dioxyde de carbone + eau
CsH1o + 0 = CO; + H20
HCI
FeCls
SnO;
CoO+ MgO
AlO; + H:
CO. + H20
CO. + H20
Zn0 + S
Fes04 + CO:
N2 + H20



------ ----Savoir ENFIN équilibrer une équation chimique -----------------

dihydrogéne + dioxygéne = eau méthane + dioxygéne = dioxyde de carbone + eau
2 Hz + O = 2 H20 CHs + 2 0O = CO;: + 2 H0
diazote + dihydrogéne = ammoniac éthane + dioxygéne = dioxyde de carbone + eau
N2 + 3 Hz = 2 NHs 2 CHe + 702 = 4 CO2+ 6 H0
carbone + dioxygéne = dioxyde de carbone propane + dioxygéne = dioxyde de carbone + eau
C + 0O:; = CO: CiHs + 5 02 = 3 CO2+ 4 H0
carbone + dioxygéne = monoxyde de carbone butane + dioxygéne = dioxyde de carbone + eau
2C+ O: = 2CO > C4Hio+ 13 Oz = 38 COz + 10 H:0

H + Cl2 2 HCI

2 Fe + 3 Clh = 2 FeCl3

2 8Sn0O + O, = 2 Sn02
Mg + CO; = CO+ MgO
2 Al + 3 HO = AlO;+ 3 H2

2 Co2HO+ 70

4C0Oz2 + 6 H0
CéHiO+ 70;:= 6 COz2 + 3 H0

2 Zn + SOz

2 ZnO + S

3 Fe203 + (o{0) 2 FesO4 + CO:

N2Hs+ 2 H:02 = N + 4 H20



